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1) PART A General Paper

Question No. 1/ Question ID 1654

Marks: 2.00




The tollowing table shows the mcome. cxpcnchtmc and profit percentage of a company for six years from
2017 to 2022. Income and cxpenclltule figures are m Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous yearis 531, . Based on the data in the table, answer the questions

that follow.

Year-wise details of Income. Expenditure and Profit of a company

Income Expenduture

Year Profit%
(n Rs. (in Rs.
million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-') that you are expected to caleulate if required.

What is the approximate percent profit of the company till 2020 taking total expenditure and total mcome till
the end of 2020 for all the years taken together?

1. 18.92%
2.1647%
3.18.24%
4. 17.67%

= &t 15 1T B 9 2017 TN 2022 TP B: T @ [OU TP SYT & S, 30T 3R ATH Aod HaRid gl M IR g & 3l &
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2020 (113.28 = 20%
2021 (133.1 110 =
2022 (1215 - -
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18.24%
17.67%

o =

b

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 2 / Question ID 1651 Marks: 2.00




The following table shows the income, expenchtlue and profit percentage of a company for six years from
2017 to 2022. Income and cxpendmne figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous year is 531, . Based on the data in the table. answer the questions

that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture

Year Profit%
(in Rs. (in Rs.
million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.

Expenditure of the company in 2022 is (in Rs. million)

.94
.95
99

e ]

:ﬂ%rdi‘ﬂéaﬁmﬁaﬁ*on@raﬂfvo TP ©: aY & O TP Ul & 31, oY SR 1 Wi WaRid 81 Sy SiR g & 3 &
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SOt & 31T, o0y 3R A1 BT gUaR fgar

gy o (& fafama o) o (. fafeaa o) Yo%
2017 |103.824 2 12%
2018 |- 838 25%
2019 [95.76 84 -
2020 |113.28 ; 20%
2021 [133.1 110 ;
2022 1216 ; ;
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Question No. 3 / Question ID 1653 Marks: 2.00




The following table shows the income, expenchtlue and profit percentage of a company for six years from
2017 to 2022. Income and cxpendmne figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous year is 531, . Based on the data in the table. answer the questions

that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture

Year Profit%

(in Rs. (in Rs.

million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.
What is the average expenditure (in Rs. million) of the company for five years from 2018 to 20227

93.44
02.88
93.98
94.88

=it &1 715 aTferet 7 e 2017 9 @ 2022 T : TN & [T T HUHI & 314, Y SR T HIG=Id Y Rid &1 31 3R o0 & 3 &
fifea o & of gd o &t gamn F avf 2022 & @y wfoera & vfowd ofs 33%% | dIferat # U T sfids & SiyR & 9 fqu g
T B IR A '
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W

gy o (& fafama o) o (. fafeaa o) Yo%
2017 |103.824 2 12%
2018 |- 838 25%
2019 [95.76 84 -
2020 |113.28 ; 20%
2021 [133.1 110 ;
2022 1216 _ ;
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93.44
02.88
93.08
94.88
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The following table shows the income, cxpendltl.uc and profit percentage of a company for six years from
2017 to 2022. Income and cxpendmne figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous year is 531, . Based on the data in the table. answer the questions

that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture

Year Profit%

(in Rs. (in Rs.

million) million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.

Exoenditure in 2020 is % more than the expenditure in 2017. (round off to two decimal places)

1.22
1.69
1.83
1.45

=it &1 715 aTferet 7 e 2017 9 @ 2022 T : TN & [T T HUHI & 314, Y SR T HIG=Id Y Rid &1 31 3R o0 & 3 &
fifea o & of gd o &t gamn F avf 2022 & @y wfoera & vfowd ofs 33%% | dIferat # U T sfids & SiyR & 9 fqu g
T B IR A '
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gy o (& fafama o o (. fafeaa o) Yo%
2017 |103.824 2 12%
2018 |- 838 25%
2019 [95.76 84 -
2020 (113.28 = 20%
2021 [133.1 110 ;
2022 (1216 - -
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The following table shows the income, expenchtme and profit percentage of a company for six years from
2017 to 2022. Income and cxpendmne figures are in Rs. million and the percentage increase in profit percent
in year 2022 in comparison to previous year is 531, . Based on the data in the table. answer the questions

that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income
Year

(in Rs.

million)
2017 103.824
2018 -
2019 95.76
2020 113.28
2021 133.1
2022 121.6

Expenduture
Profit%
(in Rs.
million)
- 12%
83.8 25%
84 -
- 20%
110 -

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.

If the expenditure was increased by 20% in the year 2017 in comparison to the year 2016 and profit
percentage in 2016 was 25% less than the profit percentage in 2017, then what is the income of the

company in 2016? (in Rs

83.2020
85.6211
81.2430
84.2025

W

. million)

2 & 15 aifeer 4 2017 T A 2022 ama-aﬁ%%qu%m g 3R A AR HE R 8l SR IR A & 3ld &
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2017 |103.824 2 2%
2018 |- 838 25%
2019 [95.76 84 =
2020 (11328 = 2004
2021 (133.1 110 =
2022 (1216 - -
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83.2020
85.6211
81.2430
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Question No. 6 / Question ID 1695

Who among the following enunciated a new policy on agriculture and created a central institute at Puga?

. Loard Ripon
. Lord Lensdowne
. Lord Curzon
. Lord Linlithgow

Frefefed 0 9 foe o R U 5 Hifd ufadried o1 3R g1 # Sarg G4 o1 Faiu fearn

B

i1

1. @S o=
2. A8 A=SI3
3. @IS Poi
4. A femfaym
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(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Marks: 2.00

Question No. 7 / Question ID 1659

Portfolio assessment consists of

A. Prohibit collaboration among teachers and students during the assessment process

B. Addressing the students achievements only

C. Engaging the students in assessing their progress and establishing ongoing learning goals
D. Provide students opportunities to reflect upon feeling about learning

E. Link assessment and teaching to learning

Choose the correct answer from the options given below:

.B and C only
.D and E only
.C.D and E only
.A B andD only

I Ifergl Jegia & i 8
A eie Ulhar & SR el ud fdenfidl & o= wgaim &1 fuy
B. Pad faenfigl @1 Juafemi w &=
c. f[aential &1 39&! Wild & Geie- 8 qul ST SITETH Ted] & RIUd $3- 5 JiEd S=A1

D. 3fferms & dau § wiaf iR faaq 3= & foru fqenfifat &1 saeR wed &
E. Jedic- U4 a7 &1 i I dedy o

= fSu U [deedl § 9 981 3w &1 994 SIfot:

[
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1. HadB AR C
2. HdAD ARE
3.%adC. D 3IRE
4. HAAA. B IR D

1 (Chosen Option)
1 (Chosen Option)
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Question No. 8 / Question ID 1678

Which of the following statements is equivalent to the following statement- "All philosophers are non-
conservatives?"

. Some philosophers are not conservatives.
. No philosophers are conservatives.

. Some philosophers are conservatives.

. All non-conservatives are philosophers.

FfiEd o 9 2H 91 $F <ol gRiFS R-3ieard 8id & $U & I0d 82

b2 -

=

1. O aRIM® JIgakl Toi ald &
2. o1 off e sfeardi g e &
3. 79 AP el g d
4. T IR-3fGardt e gia §
O 1

1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

Marks: 2.00
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4
Question No. 9 / Question ID 1658 Marks: 2.00
Match List I with List IT
il 1'% 1Y Yl 11 BT e Siforg
LISTI LISTII -
GaliasTait nciiin} R 1 (SATTaTE T) T 11 @)
niine Lools unciions A W I Eﬂsa-q—da:‘- uﬁg@'
A [Edpuzzle I. |Live polling & feedback] B : Jﬂm I mﬁﬂ?g
B. PMindmeister II. |Content Creation _' =3 -
C_ |Google Docs | 11T, [Mind Mapping C.FIIC SIR I {E I —
D. PMentimeter IV, |Interactive Videos D. [H-cHIET V. |3 oo e difsa]
Choose the correct answer from the options given below: Bkl ﬁq T famed] ¥ ¥ Tol 3k &l 994 m :
1. A-IIL B-II. C-IV. D-I 1. A-ITL. B-IL. C-IV. D-I
2. A-IV. B-II1. C-1. D-IT 2. A-TV. B-IT1. C-1. D-II
3. A-IL B-IV. C-1. D-III 3. AL B-IV. C-1. D-III
4, A-L. B-III, C-II. D-IV 4, A-L. B-I1I, C-II. D-IV
O 1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 10 / Question ID 1664 Marks: 2.00

RrERIRae =11 3 Yol & e arefies <50 fig g

Which of the following typer of variables would have a true zero point?

1. Nominal A
. Nomina o
2. Ordinal e L
3. Interval 3. e
4. Ratio 4. 3{4HId

O 1 (Chosen Option)




1 (Chosen Option)
O 2
2

O 3
3
O 4
4

Question No. 11 / Question ID 1656 Marks: 2.00

fFefdiEd § 9 oF 3 oRe simmddisl & SR o yHIfdd ®d 82

Which of the following factors affect learning of learners?

A. qTRATRS TR
A. Family structure B. G- e fRufg
B. Socio-economic status ;

G4 Ej %lai ':!8 l;liﬁ
C. Cultural back-ground

D. foeea &1 UPR

D. Type of school
Choose the correct answer from the options given below: 11 fa TTQ feedl # § el ST 1 =4 Pifoe:

1. A. Cand D only 1.$AqA, C 3R D
2.B and C only 2. ¥a@B AR C
3.A.B.CandD 3. A.B.C3RD
4.D only 4.9ddD
O 1

1
O 2

2
O 3

3
O 4 (Chosen Option)

4 (Chosen Option)

Question No. 12 / Question ID 1684 Marks: 2.00




Identity the correct order ot the words A - D given below to complete the paragraph about internet security.

Tllegal access to a computer system is known as are programs that self-replicate and
are designed to disrupt computer systems. 18 Wi here a user is sent legitimate looking emails: as soon
as the email is opened and the recipient clicks on the embedded link. they are sent to a fake website. Software
that monitors key presses on a user's keyboard, and relays the information back to the person who sent the
software. is known as

A. Phishing
B. Hacking
C. Spyware
D. Viruses

Choose the correct answer from the options given below:

1.A.D,B.C
2B, A, D C
3.B.D.A.C
4.C.D.A.B

gexIe RN & AR 1§ A f3U U or=9e &1 O 33 8 sal A-D & Tel 5F 31 UgaH i

Frex e | sFfed i & & &0 THEI 9§ - g AR PR
ey &1 a1 a1 TG © Tl U® Wlad &1 de 3-89 3o oIl 5. T 8 5-9 el ol §
3R Wl (U 77T foid W faes $ial & 3= ol dadrge U9 U1 5idl ¢ | 98 9T9eddR, ol Waladl &
B1-918 W DI GaH B AFICR B 5. AR 39 cafcd BT aTg Fa=1 THING Bl § ford FreaaR Jel
ol =g HET I 8l

A, fiufapr
B. §fhT
C. WBAWR
D. aRE
19 g fowedt & & 9 SR &1 99 ST

1LA,D.B.C
2.B.ADC
3.B.DA.C
4.C.D.A.B
O 1

1
O 2

2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 13 / Question ID 1694

At which of the following ancient place of higher learning did the famous royal physician Jivaka. who had
cured the king Bimbisara study?

1. Takshashila

2. Kanchi

3. Jayender Vihar

4. Vallabhi
ffeREd o 9 food Ui S=ar [Rig0r SRiH | Ui 2me! Riede fSaew., fore ayre foeaRr =1
SUER foear T, = e ured o i

1. derfRran

2. Bl

3. SR fdeR
4. gt

Marks: 2.00




(Chosen Option)
(Chosen Option)

O O O O

1
1
2
2
3
3
4
4

Question No. 14 / Question ID 1688 Marks: 2.00

Given below are two statements :

Statement I : Recycling drastically reduces pressure on landfills and incinerators.

Statement IT : Recyeling inereases demands for raw resources.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false

. Statement I is true but Statement II is false

. Statement I is false but Statement II is true

TR F fRu M E:

FYF1 : U] B gole Y HoRI-HRTg Rl SR YH D IR 51 aTd ga1d § = Sl 311l g
HYUF 11 : YD DI aorg o SN TH1eHl &1 77 ggdi 8

SR HYH & el 4, 1= AU Y fae e T 9 UEl 3R &1 904 Sy

b

=

L PYFT I ARSI Ta g
2. BYTI AR SH! A &
3. PYTIIT S, AT PYT I T ©
4. PYTI T E. AT PUT I T ©
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 15/ Question ID 1675 Marks: 2.00

fepdt e e o:

In a certain coding language

R RN o a. MANGO' ®I 4 & &Y H Heas [l ol g
b. BANANA' is coded as 5 b. BANANA' &1 5 & &9 1 e [l ol g
c. ' PEAR'is coded as 3 C-'PEAR'ﬁ3$FqﬁTaa§ ﬁ’_[”GHEH%J

How 'MUSKMELON' shall be coded in that language? 39T HTST § 'MUSKMELON' 1 ¥ Heas [ahdl STE?

1.9 1.9
2.8 2.8
37 3:17
4.6 4.6
O 1
]
O 2
2
O 3(Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 16 / Question ID 1677 Marks: 2.00




It the statement-"Some trucks are polluting vehieles”, 1s grven as true. which ot the tollowing statements could
be immediately inferred to be false?

A. All trucks are polluting vehicles
B. Some trucks are non-polluting vehicles
C. Some trucks are not polluting vehicles
D. No trucks are polluting vehicles

Choose the correct answer from the options given below:

1. C and D only

2.Band C only

3.D only

4.B. C and D only
g HYF P g UGl B a1l aT6- Bld o7 I § al H=fad I 9 &b Bl & Tad 1H &1 gid
SH T o Yl 6

A i €% YU ae Bl & |

B. P ¢ IR-UGWUHR] g+ &id &
C. T8 ¢P AGIIPRI eI TRl el &l _
D. BI5 1 T& WEUUER! a5 181 61 o

1 feu Tt fased] O 9§ ol IR &1 99+ BHIfoT:

1.%4d ¢ R D
2. $aaB IR C
3. $dd D
4.%ddB.C AR D
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 17 / Question ID 1685

Marks: 2.00




Match List I with Last I

LISTI LISTII
5 2 {(Internet Techinical
(Description) Tarm)

A [Numerical ID of 32-bit or 128-bit device on the internet I. [Virtualization

B. |Unique ID for a network interface card (NIC) IT. IMAC address

C An arrangement whereby a user remotely accesses software, hardware, or other resources 111 P address

[via a browser
D. |The process of running multiple machines on one physical server IV [Cloud Computing

Choose the correct answer from the options given below:

1. A-ITL. B-IV. C-II. D-1
2. A-L B-II. C-IV. D-III

3. A-IL, B-IIL, C-1V, D-I

4. A-IIL, B-IL. C-IV. D-I
et 1S 1Y G 11 BT eI Hifeig

= 11 Gee atat
e 1 (o =)

A Is‘afrc' IR U [Sa129 & oY 32 T2 3fyar 128 fae &1 witerd iy st L ;!:g&ma”“}
B. [Hedd gty @IS ad [ARIP sl IL [eAuEi Teg
o |5 Saw foreH foni vraTad] @1 STSSR & W § W0edi, §Ioam Hal o | e

 [FEne do gRad Ugd (D) Bl 8 | ' :
D. [0 Hifd® T IR 3@ HEIH! Bl Galiad @ @i Hishal IV [gar3s daieT

= Ry e ow § @ 9t S o1 907 S

. AL B-IV. C-11. D-I
A-I. B-IL. C-IV. D-IIT
. A-IL B-II1. C-IV. D-I
AL B-I1. C-IV. D-I

[ T R e

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 18 / Question ID 1682 Marks: 2.00




In the tollowing M5-Excel spreadsheet. you are given a list of 100 customers. Column 'A’ represents their
names. 'B' is for customer category, 'C' for payment category (0 means discounted price and 1 means full
price). 'D" indicates price that customer pays. The example spreadsheet below is not the actual list and simply
shows different categories.

A B 2 Ip
1 |Customer Name |[Customer Category |Payment Category |Price (Rs.)
2 |Raman Child 0 0
3 [Dinesh Adule 1 5
4 |Jashan Adult 0 2
101 || Amat Child 0 0

Which of the following formula would indicate the total amount paid by customers who are adults but do not
get discounted price?

SUMIFS (D2 : D101, B, : 101, =Adult, C2 : C101, =1)
.= SUMIFS (B2 : B101." = Adult", C2 : C101, "=1", 2 : D101)

3.=SUM (D2 : D101)

4.= SUMIFS (D2 : D101, B2 : B101. " = Adult". C2 : C101. "=1")
FAfIREd MS-EXCEL SISRiie H 100 U891 &1 gl &1 715 ¢ | WY ‘A 0 =M. B T Ugs 9. ¢ H
1ATAT A7 (0 BT o1 § B U HiAd 3R 1 BT 3 g - O $iFa) Wdd 5. ‘D' H ag diHd al 7Ts ©
IrGI%Id?Jﬂlﬁm‘%j,‘Idl-ﬂ Bl & | i 41 T8 TsRiie & I H aRaidd uit Aol § AR T8 i+ Sordi &1
PEARGE RGN

1o
Il

A B C D
1 |[oseHam TE® ST | WFAE AT ([PEd (3)
) = EIRCY 0 )
3 e TS 1 5
s [omEE Ergea 0 B
101 |31 EINGH 0 0

FAfTEa o SH-91 92 903 Aedi aR1 FTAH S 715 $d A1 FEiRid H3dl ¢ o ge U
HIHd IR YA o fbal g2

1. = SUMIFS (D2 : D101, B2 : 101, = Adult, C2 : C101, =1)
2.=SUMIFS (B2 : B101." = Adult". C2 : C101, "=1", D2 : D101)
3.=SUM (D2 : D101)

4.=SUMIFS (D2 : D101, B2 : B101, " = Adult", C2 : C101. "=1")

o O O O
WW NN ==

4 (Chosen Option)
4 (Chosen Option)

Question No. 19 / Question ID 1667

Condensation symbols in political communication are - RIS IR H e ellp

1. Dormant 1, W@ﬁ%l .
2. Evocative 2. WW@?L%| )
3. Weak assumptions 3. Frda srEyRy ]':{Eﬁ?ﬁ%“
4. Escapist 4, qQTgAaTE! gid &
O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

O 3

Marks: 2.00
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Question No. 20 / Question ID 1657 Marks: 2.00
In collabarative learning. from which of the following strategies. listening skill is developed?
1. Fish Bowl
2. Cirele of Voices
3. Jigsaw Strategy
4. Case Study
HedrTES R o, Fefated O J g i 9 yau S faelyd giar 32
1. Py argd
2. TR BT EE (Fod 1P aigaw)
3. UHId
4. YpUT SHegg—
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 21 / Question ID 1669 Marks: 2.00
Given below are two statements :
Statement I : The Buddhists argue that reality should be understood as a linguistic construet.
Statement IT : In today's context. we can say that reality is a media construct.
In the light of the above statements, choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement IT is true.
2wy e g @
BYF1 ; i yHlaaied] ®1 o & (o gurd &1 e FiEf & = O gugn S =i
DY 1 : 3T & Ha] I 51 P 9ohd ¢ 1o gurd Hifsar &1 Al g
SRIGd PYH & @D 4, A U 70 fdped H I Hgl IR 1 94 Difoid:
1. BYF 1 AR 11 GHI T 5
2. B 1 3R 1 EHI A B
3. FYF 1 I 3. AP HYF I T 8
4. DU 3T &, Wi PUT I T B
O 1 (Chosen Option)
1 (Chosen Option)
0 2
2
o 3
3
O 4
4
Question No. 22 / Question ID 1679 Marks: 2.00




"INo one has shown that Mars was not created by the Aliens. Theretore, Mars 1s actually created by the
Aliens". Which fallacy is involved in the above statement?

. Red Herring

. Hasty Generalisation
. Appeal to Ignorance

. Begging the Question

{5t 7 T Tt feman § o da ve uufeal gry A ==t fopar mar un) sufen, fa ug g §
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2 (Chosen Option)
O 3
3
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Question No. 23 / Question ID 1683 Marks: 2.00

Given below are two statements :

Statement I : The www is the largest computer network in the world. with millions of computers connected to
each other.

Statement IT : Web pages are stored on web servers, which are always connected to the Internet so that people
can view their pages 24 hours a day.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement IT are correct

. Both Statement I and Statement IT are incorrect

. Statement I is correct but Statement IT is incorrect
. Statement I s incorrect but Statement II 1s correct

T I I AR [

HYAT: WWW [%a BT SHTIHdH HHCR Acad g fored ardl (Hfia=) $Ter tH-gu 4 9s gu s |
PYTII :%ﬂ?ﬁﬂ%%@%ﬂﬁﬁ%ﬁﬂ%&ﬁ?@@éaﬁ%ﬁﬁﬂyﬁﬁqmamﬁléa
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4. T ITIE. AP FYF I TA T
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‘Which of the tollowing pairs shows an internet service and its correspondmg protocol. correctly matched?

. www - FTP

. E-mail - SMTP

. E-mail - FTP

. File Transfer - SMTP
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Question No. 25 / Question ID 1676 Marks: 2.00

Which of the following statements are so related that if one of them 1s true. the other must be false. even
though both of them can be false?

A. Some adults are far-sighted

B. No adults are far-sighted

C. All adults are far-sighted

D. Some adults are not far-sighted

Choose the correct answer from the options given below:

. Aand D only
. Cand D only
. Aand B only
.B and C only

frfefad & 9 &1 B 9 Y= 108 § 39 UhR Jaiid § 6 afe Ut 9 81 dl g8R1 3% TTed g,
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Five vears ago the average age of 4 persons A, B, C and D was 45 years. If another person E is included in the
group. then the present average age of all the five persons becomes 49 years. What 1s the present age of E?

.45 years
. 50 years
.43 years
4. 48 years

IR aafaqdl A. B. € SR D ®1 374 g uid a9 gd 45 oy ot | afe 91 & te ger1 «afed E i faean
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Question No. 27 / Question ID 1673

Find the number that can replace question mark (?) in the series given below -

~1,0,3,8.15,24?

35
49
39
4.23
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Marks: 2.00

Question No. 28 / Question ID 1661

Marks: 2.00




Identify the advantages of open ended questions in survey research.

A. Respondents can answer in their own terms
B. They can be quickly administered by the interviewers
C. They allow unusual responses to be derived

Choose the correct answer from the options given below:

. A and B only
. B and C only
. A and C only
LA, Band C

O 1
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O 3 (Chosen Option)
3 (Chosen Option)
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Question No. 29 / Question ID 1686

Marks: 2.00

Which among the following are sources of Volatile Organic Compounds (VOCs)?

A, Vehicles

B. Plants

C. Termites

D. Power Plants
E. Bogs

Choose the most appropriate answer from the options given below:

. Aand D only

.A. B and D only
.A.B.Dand E only
A.B.C.Dand E

T
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‘Which of the tollowing are the major crificisms ot mass media as a cultural industry?

A. Mass media are pro-people.

B. Products of culture industry are standardised.

C. The productions are devoid of aesthetic merit.

D. The culture industry does uniform mass production.
E. Avoids massification of culture.

Choose the correct answer from the options given below:

A.B. C only
B. C.D only
C.D,E ony

A.D.E only
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Question No. 31 / Question ID 1670

Given below are two statements :

Statement I : There is an argument that the emergance of television audiences has brought in more
personalised and interactive communication and media culture

Statement IT : Within an integrated communication system. messages do not acquire the elements of
communicability and socialisation.

In the light of the above statements. choose the correct answer from the options given below :

Both Statement I and Statement IT are true.
Both Statement I and Statement IT are false.
Statement I is true but Statement IT 1s false.
Statement I 1s false but Statement II 1s true.
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O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 32 / Question ID 1691

In the earlier days of higher education in India, the focus was mostly on disciplines of

. Agriculture
. Medicine
Arts

. Law
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Question No. 33 / Question ID 1693

Given below are two statements :

Statement I : The idea of abolition of regulatory bodies of education like UGC. AICIE and NCTE is based on
the assumption that such multiple bodes are redundant.

Statement IT : The Bar Council of India has opposed the idea of abolition of regulatory bodies as it would
affect its role as the apex regulatory body of legal professionals in India

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false,
3. Statement I is true but Statement I 1s false.
4, Statement I is false but Statement II 1s true,
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Question No. 34 / Question ID 1690

Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Asgertion A : In concentrating type solar collector temperature can be raised upto 500°C.

Reason R : In concentrating type solar collector. the magnitudes of collector area and absorber area are
numerically same.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct
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Question No. 35/ Question ID 1660

Given below are two statements :

Statement I : According to Vygotsky. learning occurs through social interaction and collaboration.
Statement IT : According to Vygotsky. scaffolding involves providing the student with all of the asnwers and
solutions to a problem.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II 1s incorrect.
. Statement I is incorrect but Statement II is correct.
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Question No. 36 / Question ID 1692 Marks: 2.00

What were the initiatives during the second five year plan to improve technical education in India?

A. Closure of non-performing engineering colleges

B. Establishment of IIT at Madras

C. Schemes for improvement of existing technieal institutions

D. Stipend-based training programme for outstanding students at select technical institutions in the country
E. Plan to establish a central institute for printing technology.

Choose the correct answer from the options given below:

.A.B. C only
. A, C.D only
.A.B.E only
.B.C.D.E only
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Question No. 37 / Question ID 1666 Marks: 2.00

TJ9R & §R § YgR B 907 B8l oldl g2

Communication about communication is called -

1. ¥R fadid

. Commumnication narrative

1 :
2. Communication narrative 2. W&ﬁﬂﬁﬂﬁ
3. Metacognition 3. mﬂﬁﬂq
4, Metacommunication 4, AR
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1
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2
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3
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FARIFIRIBIS (CFCs), HgyU U 813y T4,

Chlorofluorocarbons (CFCs), important green house gases. A favEa Bt 2
A are toxic B. SR & A9 9 A< G190 o aIisd g Sl § |
B. vaporize just below room temperature C. Saa R sl gl
C. are flamable D. dgd fRrad el
D. are very stable E. 3169 @1 9P ®dl

E. destroy ozone

i feu e fasedt & € 99 SUgad SR &1 90 BIfeTE:

Choose the most appropriate answer from the options given below

.A.B and C only iaﬁf’fg?j;;;

.B. C and D only
.B.D and E only 3. $HddB.D 3R E

.C.D and E only 4. $aq C. D 3IRE
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Question No. 39 / Question ID 1680 Marks: 2.00

Given below are two statements :

Statement I : Aristotelian logic 1s verbalistic.

Statement II : For the classical Indian school of logic (nyaya) verbal form is not the essence of inference and is
required only to convince others.

In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II 1s false.
4, Statement I is false but Statement II is true.
R Py fiume:
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According to UGC regulation 2018 on plagiarism. a similanty ot 14% would correspond to which of the
following levels of plagiarism?
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4 (Chosen Option)
4 (Chosen Option)

Question No. 41 / Question ID 1662 Marks: 2.00

Given below are two statements :

Statement I : Online surveys are very useful because internet users always constitute an unbiased sample of the
population

Statement IT : A convenience sample is one that is simply available to the researcher by virtue of its
accessibility

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4, Statement I 1s incorrect but Statement II 1s correct.
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A man X. can complete % of a job in 5 days and another man Y can complete % of the job in 10 days. In how

many days both X & Y tégether can complete the job?

2
[~ =]

U e x o ol & %Wﬁsﬁﬂ‘fﬁwmﬂw%aﬁ??ﬁﬂﬁyﬁﬁ%

H ORI IHAT | X AR Y 2T erR 39 B 1 e T & qR1 ) e ©

2
-]

[#¥]
=]

o O O O

(Chosen Option)
(Chosen Option)

| D

ynT &1 10 et

Question No. 43 / Question ID 1687

pH. an important water quality parameter,

. is a measure of acidity on water.

. is a mesure of basicity in water.

. can have value only upto 10.

. represents the concentration of hydrogen ion.

. whose value '0' (zero) confirms that water is potable.

HOno e

Choose the most appropriate answer from the options given below:

1. A, C and E only
2. A.Band D only
3.C.D and E only
4.B. C and E only
o1
1
O 2 (Chosen Option)
2 (Chosen Option)

3
3
O 4
4
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Marks: 2.00

E. @1 {1 414 Y (0) 8 Al g8 YP gldll 8 b S g arg g

1. FATA. C IR E
2. HIAA.B AR D
3. %adC, D IARE
4. $ddB, C3IRE
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Question No. 44 / Question ID 1663

Marks: 2.00




Scientific research is

A, Data driven
B. Replicable
C. Verifiable
D. Subjective

Choose the most appropriate answer from the options given below

.A. B and C only
.B. C and D only
.Band D only
A B.CandD
O 1
1
O 2
2
O 3(Chosen Option)
3 (Chosen Option)
O 4
4
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B. 3P
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D. HAKRIHE
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1. AT A, B 3R C
2. %Had B, C 3R D
3. HadB AR D
4. A.B.C3IRD

Question No. 45 / Question ID 1674

Marks: 2.00

A student walks 1 km in the east direction. then turns to the south and walks 5 km. Thereafter. he turns to east

and walks 2 km and again turns to north and walks for 9 km. How

.5 km
. Tkm
.6 km
. 6.5 km

ra =

e

far is the student from his starting point?
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4 (Chosen Option)
4 (Chosen Option)
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Read the passage and answer the questions that tollow:

Earlier this week. European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But i reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and secks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminnm. steel, cement. fertilisers and electricity it 1s imposing European
cmission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global nerth bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting industries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukrame war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus. rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures, including taking the matter to World Trade Organization (WTQ) and flagging it
as a non-tariff barrier.

The amlitions climate targets of the European bloc aim to

A. Withdraw free corbon allowances for its most polluting industries
B. Reduce emessions

C. Prevent carbon leakage

D. Use coal when energy prices rise

Choose the correct answer from the options given below:

.A. B and D only
. B and C only
. C and D only
.A. B and C only
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Read the passage and answer the questions that tollow:

Earlier this week. European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon. reducing emissions and preventing carbon leakage to combat global warming.
But i reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and secks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminnm. steel, cement. fertilisers and electricity it 1s imposing European
cmission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global nerth bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting industries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukrame war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus. rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures, including taking the matter to World Trade Organization (WTO) and flagging it
as a non-tariff barrier.

European union's carbon border tax will come into effect.

. From 2030

. Immediatley
3. After a decade
4, From 2026
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Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of ity proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax. it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But in reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and seeks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminium, steel. cement. fertilisers and electricity it is imposing European
emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global nerth bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting industries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypoerisy is the fact that when the
Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for elimate funding to help developing
nations transition to low-carbon pathways. Thus. India is right to object to the EU carbon tax. It should
prepare retaliatory measures. including taking the matter to World Trade Organization (WTO) and flagging it
as a non-tariff barrier.

India is right to object to the European Carbon tax because

A. Tt will affect its economic growth

B. India 1s not concerned about global warming

C. Rich nations have yet to molize $ 100 billion for climate funding to help developing countries transition
to low-carbon pathways

D. Rich countries of the global north bear historic responsibility for global warming

Choose the correct answer from the options given below:

1.B

2. A and D only
3. A Cand D only
4. A. B and D only
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Read the passage and answer the questions that tollow:

Earlier this week. European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon. reducing emissions and preventing carbon leakage to combat global warming.
But i reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and secks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminnm. steel, cement. fertilisers and electricity it 1s imposing European
cmission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global nerth bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting industries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukrame war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus. rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures, including taking the matter to World Trade Organization (WTO) and flagging it
as a non-tariff barrier.

Given below are two statements :

Statement I : The European block secks to impose European emission standards on emerging economics
Statement II : Rich nations are helping the developing nations transition to low-carbon pathways through
climate funding.

In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement IT is false.
. Statement I is false but Statement IT is true.
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Read the passage and answer the questions that tollow:

Earlier this week. European Union (EU) lawmakers laid the groundwork for the rollout of its proposed
carbon border adjustment mechanism from 2026. Essentially a carbon border tax, it is shrouded in green
principles of pricing carbon, reducing emissions and preventing carbon leakage to combat global warming.
But i reality it is nothing but a tax against emerging economies like India exporting to the EU. Trure, the
European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and secks
to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of
carbon-intensive goods such as aluminnm. steel, cement. fertilisers and electricity it 1s imposing European
cmission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate
action. The rich countries of the global nerth bear historic responsibility for global warming. But after having
achieved a high standard of living through centuries of polluting industries, they now want to slam the
development door shut on the rest of the world. Further exemplifying this hypocrisy is the fact that when the
Ukrame war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus. rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing
nations transition to low-carbon pathways. Thus, India is right to object to the EU carbon tax. It should
prepare retaliatory measures, including taking the matter to World Trade Organization (WTQ) and flagging it
as a non-tariff barrier.

The following exemplify the hypoerisy of the European Union's imposition of carbon tax

A. Rich countries of the global north have achieved a high standard of living through centuries of polluting
industries.

B. Rich countries now wish to hamper the development of the emerging economies.

C. Rich countries violate the principle of common but differentiated responsibilities of international climate
action.

D. Rich countries are not imposing European emission standards on emerging economies.

Choose the correct answer from the options given below:

. A and B only

.A. B and D only
.B. C and D only
. A. B and C only
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2) PART B Subject Paper

Question No. 1/ Question ID 906528 Marks: 2.00

Who called the suspension of the Non-Cooperation Movement by Gandhiji due to mob violence at chauri chaura as a "national calamity"?

1. Bhagat singh

2. CR.Das

3. Subhas Chandra Bose
4, Ram Prasad 'Bismil'
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